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QUESTION 1

Which two locations are supported for an ESXi installation script to reside on? (Choose two.) 

A. SCP Server 

B. FTP Server 

C. CIFS Server 

D. NFS Server 

Correct Answer: BD 

 

QUESTION 2

A vSphere Administrator notices that the newly deployed ESXi hosts cannot stay in a connected state in 

vCenter Server for more than 60 seconds at a time. The Administrator knows that the hardware is in good 

health and that the ESXi hypervisors are properly configured. 

What is the source of the problem? 

A. The hosts are not a part of a vSphere Distributed Switch. 

B. Firewall rules that have too many ports open. 

C. Firewall rules preventing hosts from sending heartbeats to vCenter Server. 

D. The hosts do not have persistent logging configured. 

Correct Answer: C 

 

QUESTION 3

Where would a VMware vsphere 6.x Administrator go to view the detailed health of the vCenter server Appliance
(vCSA)? 

A. Navigate to the vCenter server system in the object navigator. Double-click the vCenter server object. Click
Extensions. Select vservlce Manager. 

B. Select the vCSA In the Inventory and view the Summary tab. 

C. Login to the vCenter server Appliance Management interface. 

D. View the Host Health status in the vsphere web client. 

Correct Answer: C 
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QUESTION 4

A VMware vSphere 6.x Administrator is looking at the following output from esxtop on an ESXi host: 

What does DAVG/cmd represent? 

A. Average device latency per command in milliseconds 

B. Average ESXi VMkernel latency per command in milliseconds 

C. Average queue latency per command in milliseconds 

D. Average guest operating system latency per command in milliseconds. 

Correct Answer: A 

 

QUESTION 5

A vSphere Administrator has been tasked with ensuring that 500 virtual desktops are unable to communicate with one
another, but can communicate with required services. Which two solutions does VMware recommend? (Choose two.) 

A. VMware NSX Distributed Firewall 

B. Private VLAN 

C. vSphere Host Firewall 

D. Port Filtering 

Correct Answer: AB 

 

QUESTION 6
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What is the maximum supported number of Virtual SCSI adapters per VM in vSphere 6.5? 

A. 8 

B. 4 

C. 2 

D. 6 

Correct Answer: B 

 

QUESTION 7

An administrator receives a report that no real time statistics are available for a virtual machine in the 

vCenter Server inventory. 

Which two statements indicate likely causes of the problem? (Choose two.) 

A. The virtual machine is powered off. 

B. The host containing the virtual machine is disconnected from vCenter Server. 

C. There is insufficient real time data to display the information. 

D. The vCenter Server service is not running. 

Correct Answer: AB 

 

QUESTION 8

An administrator is using the Host Failures to Tolerate Admission Control Policy for a vSphere High 

Availability (HA) cluster. When configuring this setting on the cluster, the administrator sees this error 

message: 

Insufficient resources to satisfy HA failover level on cluster What are two likely causes for the error? 

(Choose two.) 

A. The hosts in the cluster are disconnected. 

B. A host in the cluster is displaying an HA error. 

C. Distributed Resource Scheduler has not been configured on the cluster. 

D. Virtual Machine Component Protection has not been turned on. 

Correct Answer: AB 
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QUESTION 9

The Triggered Alarm on the VM shows Virtual Machine Consolidation needed status. How would an administrator
recover from this event? 

A. This must be done from the command line. 

B. The only possible method is to clone the VM. 

C. In the vSphere WebClient, open Snapshot Manager of the VM and then use the Delete all button. 

D. In the vSphere WebClient select VM, right-click ?Snapshots ?Consolidate. 

Correct Answer: D 

 

QUESTION 10

What is the minimum version of ESXi required to support VMFS6? (Choose the best answer.) 

A. ESXi 6.0 and later 

B. ESXi 5.0 and later 

C. ESXi 5.5 and later 

D. ESXi 6.5 and later 

Correct Answer: D 

https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.storage.doc/GUID-
7552DAD41809-4687-B46E-ED9BB42CE277.html 

 

QUESTION 11

After reconfiguring VUM in the vCenter Server Appliance, a vSphere Administrator must restart the Update 

Manager service. 

Which VMware recommended action will let the Administrator accomplish this task? 

A. On the vSphere Web Client Home page, click System Configuration, then Nodes. Select vCenter Server and, from
the Actions menu, select Reboot. 

B. On the vSphere Web Client Home page, click System Configuration, then Services. Select VMware vSphere Update
Manager service, and from the Actions menu select Restart. 

C. On the vSphere Web Client Home page, click Update Manager. Select the Update Manager server and use the
Actions menu to restart it. 

D. Log in to the vCenter Server Appliance Management UI and reboot the VCSA. 

Correct Answer: B 
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QUESTION 12

An administrator is configuring the Failover Order option on a vSphere Distributed Switch. Which two options should be
used with IP-hash load balancing? (Choose two.) 

A. Active Uplinks 

B. Standby Uplinks 

C. Unused Uplinks 

D. Override Failover Order 

Correct Answer: AC 

 

QUESTION 13

A user wants to monitor a business-critical virtual machine to ensure that it doesn\\'t run out of resources. What metric
could be monitored in vRealize Operations to address this concern? 

A. Time Remaining badge 

B. Compliance badge 

C. Reclaimable Waste badge 

D. Density badge 

Correct Answer: A 

 

QUESTION 14

What is the maximum supporter number of vCPU per VM in VMware vSphere 6.5? 

A. 256 

B. 128 

C. 32 

D. 64 

Correct Answer: B 

 

QUESTION 15

An administrator has an application that requires connection directly to PCI devices through a virtual 

machine. 
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What is a limitation of this configuration? 

A. Devices must be reserved for PCI passthrough on at least one host on which the virtual machine will run. 

B. Snapshots are not supported with DirectPath I/O passthrough devices. 

C. A maximum of 18 PCI vSphere DirectPath devices can be added to a virtual machine. 

D. Only one PCI controller can be presented to the virtual machine. 

Correct Answer: B 

https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.vm_admin.doc/GUID-
53F65726A23B-4CF0-A7D5-48E584B88613.html 
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